Juooguogdod

gboobooboon 2

gobooo

1 Doooooobogd

OUO0Euer0000O0oooobobooboboooooobboobbooboboooboobooo
0000000000000 0000000000 A O00O0O0OOOD0O(RY) (nODOD)
goboobooboooooboooAbOObOODbOOODODOOODODODOOODOD
gooooooouooooooooobobo pOObLOOLOOODOODOODDbOODOO
gogoooon
oooooooboooobooobobooobooobooobboooooobboooDoOog R
gogboboooubotboooboooobboooobobbboooobbuoooobooo
ggbobooobooobooooogoboooobooobooboobooboooboooobob
00000000000 700000 160000 '000000000000000O0O0
goooooboboobbobooddooooooooboboobbbooooooooooo
goobbbooooubobbdoooooobboooonbooooubD ,oog
gboobob ed0bDOO0OD0OODO
1+e>1 (1)

gbobooobobooobbboo ebbO00o0obObO0o0obOOO0oOO0ObOOO0oDbODbDOn
goobodbbfe, 000 edbO0O0OO0 1+e=100000000000000 10 7
D0000000000001.0x107' 0000000000000

1.000000 + 1.0 x 107 = 1.000000 (2)

gbooboobooobooboooboob 1000000 00000DO0ODOODDO
oooooooooooooboobooOo pOOODOOOODDOOOODODOOOODODOO
O00000O0O0O0OEuler00 RO e, DOODOOO0DOOOOOOODO

Tip1 =T + hf(zi, hy) =2 (h < ep) (3)

OU00bDOO0OEerd00O0o00ooOo0ooooOoooobooobooboooooooong
gbobodoboboobobooobh «0000bboooboboobboobboobboo
gobooboobobobodobooboobooobooboobooooobobboobogooAD
gooobooooooooobprOOO0ODOOOODOOODODOOOOOOODOOO
gooboboooobooboboboooobobo hOODODDUODODODOOD
OOEuder 00D0O0OO0OO0ODOOOODOOOODOOOOD1O0000O0OODODOOO
gbobooobobooboboobobooobobooobobooobboobobooobo
0000000000000 00000 (booUooooO)O0o0DooOoooooOoOoooOo

2 Jodooobbooooobobbogd

goooooooooobbboo0b0 100 100000000000 0ggogag
000000 00b00obU0ob0ob0obUn LerenzOOODOO 30000OO0O0ODOODO
00000000000 0Fortran O real O C O float OO 7 OO Fortran O double precision O

CO double 00 16 JO0O0O0O0ODO0OCOOO0O0OOODOOOOOOO0O0OODOODOOOOO0OODODODODO
oo




100

o]
10—2 ]
d
104 &
§ oooo
(0}
R &
00
-8 &
e
1010

10 108 10° 10
time step

01: 00000000 Euer 0000000000000000000000Odx(t)/dt=
() 00000 2(0)=10000 t=000¢t=1000000000 2(1) = exp(1) O
0000 (0000)0000000000000000000000000000000
00000000000000000000000000000000000000000
000000000000

gbooaboan

dzg) =—ox+ o0y (4)
d’?jl(tw——:rz—i-m—y (5)
dz(t)

g T bz (6)

(o,r,b000)0000 2,y,20 3000000000000000000OOOODOOO
gobooboogobo NODOOooobooboooboboooboo3syoboooobooo 20
gbooooboobbooboooboobboobooboboobbo 100 1000
ggbobooobooobooboooboboogbooooboobooboooobooobon
gbobooboboooboboboooboboooboboboobobooboboobo
ooooooooooooooo
gbooobooboobobboobooboooboo1o00boo0ooboobonboo
O0000000«x(¢) D000 nO00000OO0DOOOOOO

d"x(t) dz(t) d’x(t) d" () 7 > 1)

= f(a(t ..
a7 (1( V@ AR e
D00D00000000D000f0 2,¢t000000:00000000000000
000000000

dh et
yk(t) = dtkg)

goboobobnO0O0O0OO0ODb0O0ODODOOOOO1000DO0DODOOOOODODODOD

dyn(t)
dt

(k=1,2,...,n—1) (8)

= F(i(),y2(t), -, yn—1(t), 1) (9)



0000w(t),y(t) 0000000

QU
<
[\
—_—
o~
N—

) (10)

dy"gtl(t) = yn(t)

000000000 1000000000000000000000000000 y(0) O
gooooooooooooooooooool nO000o0o0b0000 nOO 10000
0000000000000 ooooboobo0obo0o0oooooooooboooo
goono 1o00b0oooooooooooogd

Jooooobooo 10000000000 boooogoooobooooon
000000000000 DO00 Ewer000O00OO0OO0OO0DODOOODODOOODODOOO
0 NOOOOOO =) (00 a00 2,(t) 00000000000)000000000
goooooooo

L0 (). (1)

000 O NOOODODOODOOOOOOOOEWerOOOOOoOOoOoOOoOQOOOO
goooooooo

ti=ih (i=0,1,2,...) (12)
zi==z(t;) (i=0,1,2,...) (13)

z;+1 0000 Taylor O0OOODO0O

_ da(t) 2
Tit1 = T; + at |y, h+ O(h?) 1)

=x; + hf(xi, t;) —|—O(h2)
O(hz)DDDDDDDDDDDDDDD Fuler OOOQOQOQOO
Tit1 =x; + hf(xit;) (15)

ubobO1000b000oboboobbooooboobbo0 10ob0bbo0obooooboo
googoboobooboooboo

ooooooOoO0obOOo0ooO0o0oOOo0O0o0 FOD0O0OO0 £tO000ODOOODOODO
0000000000000000x, 000 00 4+10 (000 2,00 21,410)0
0000 fi(x,t;) 00000000 2o 00000 2, 00000000000 fa(2s,t)
0ooooooo (1,0 21,1 0000000000000O0O0O0)000D0000D0ODOO
ooo f00000000000000O0O00DOOOO0DOOODOOODOOODOOOO
gbooooboobooboobobon

U0 Hean OO OOOOOODOODODOOOODODODOOOOOOODODOOOOO
googon

dx(t)

. - 2 3
Tip1 = @i+~ t:t,-h+2 g t:t,-h +O(h?)
(16)
W2l o t
—athf@aty+ | @D ety D g | o)
2 ot T=x;, 0 =x;,
t=t; t=t;
0(16)0 200000000 200
Ly Of(=t) _ ) Ofa(=,t)
f(a:“tl) am m:w.i, B Z fﬂ(w“tl) 8:}05 T=x;, (17)




Euler o
Heun x
|analytic
solution

0220000 Eulee U0 HeunOOOOO10000000O dx(t)/dt = p, dp(t)/dt = —x,
z(0)=1,p(0)=100000000 (h=01)0000000000000000000
D00D000000000D00000 22)+p?(t)=10000

00000f,/0zs 0 NxNOOOOOODODODOOOO1000 HeunOOOOODOODO
gboboooooboboobobobooboboooobobooboboboobo
00000000 (@oooo0o000o00D0oooOooODOOO0O0oOoDOoDOoOoOUbObOoOoDDOD
00)000000000000000000000000 10000000000 ooOO
U0b00b0d0b00OHesn 0O O00OO0OO0OO0OOO0ODOOOOODOODOOOOOODODOD
gboogooobooobooobooboboboboobobon

O0000 Heun OOOOODOOOOOOO

x; = x; + hf(zit;) (18)
h
Tip1 = T; + §[f(33i,tz‘) + f(x], tiy1)] (19)

00000 HenODODODD 100000000000000000O00O0 O(k®) 00000
20 10000000000000000000 EulerdD Heun OOOOODOOODO
OUOO0OEuerDO0D00OD0O0OD0ODODOUODODUODOHesn OO OO ObobobOoD
gboooboobooan

3 duoooogn

3.1 Runge-Kutta [

Euler 000 Heun OO0O00O Taylor OOOO0DOOOOOOO0OOO0ODOOOOOOODO
gbobooobobooboobbooboboboboobooboobooboboobo
Oo0obOOoO0bOOo00oDOOoobOOO00oOo00DbOoO0OO0o0oDOoObDOO00DO Taylor O
gbogoooboobooboboobooboobo

O00000000000000000 Runge-Kutta O (D000 4 00 Runge-Kutta
0)000000000000000000000000O0000O0O0 100000000

dx(t)
dt

— fla(t),) (20)

00000000 ¢ =dh,z; =2(t;) (1=1,2,3,...) 00 0O0Runge-Kutta 000 x;41 O



(2) RO
i T At “F(aitAh/2)
> b >
tl tz—|—1 tz tz—l—l
(c) | (d) ]
.4 o Ak Lit1 s
> >
tz ti—i—l tz ti—}—l

0 3: Runge-Kutta 000000000 de(t)/dt = f(z(t),t) 00 z(t) DOOD0OO0OO00OOO
(a) t;,2; 00000 A/20000000 2 00000(b) 2! 000000000 t,2; O
0000 A/20000000 «*00000(c)2*0000000D00DO ¢,2,00000
OARO0000000 00000000 o,2f,2* 000000000000

I N
0 241 00000

oo 40000000Db0O0OOD

h
;= i+ 5 f(zi, ti) (21)
h h
TR (e 22
ot =t g7 (htir g ) (22)
Kokk Kk h

$i+1—$i+g[f($iati)+2f <$f,ti+}2l>+2f <$f*,ti+g>+f($;**,ti+h) (24)
00z 00 2y 00000000000 ;0000 2700000000 700000
ooooobooboooobuoobnd 3000000 Db 30 Runge-KuttaOO O OO
O00b00Db0Db00bUO0d0l0 Heun UDOUOODUOOOORunge-Kutta DO OOO0OODO
O(R%) 0000000000000 0N0N0D Taylor 000000D0DOOODOOOOOO
O0000ooon)

O00000OHeun OO t=¢;, 0000 t=t, 0000000000 0O0DO0OOOOO
O00000O000Runge-KuttaOO t=(t;+t41)/2000000000000000
0000000000000 0000O0O000OO0O000O0OD t=(ti+t+1)/200000
zf,z;*00000000Runge-Kutta OO0 O0O0O0O0000O0Euer 0000000000
go00d0oo0ooboooobooooboooooOobOobOobobobobobobobooo

0000000 Runge-Kutta 00O 4000000000 DO0O0OOOOODOOOOOO
O00OD00OD00O 3000 Runge-Kutta DO0OOOHeun 00O 2 000 Runge-Kutta OO
OO00O00o0ooooo

3.2 00O0dn

ggbooooooboooboboogooobooobooobooobooobooobooboooboon
gbobooobobooboboboobonooboboobobooboooboobooboaoobo
gooooooooooooboooboobobobobobobobobobobobobooo
gboboobobobooboooboboobobooboboobobobooboboaoobo
gboooobooboobboobuoobooobobod



(a) (b) Tit1

Rd

ot *k
----- A Lit1

o kR

;| o T;| o Mitl/

L > L >
bi it it ¢ tit+h

04 000000000000 z(t) 00000000000 0000OO0OO0OODOOO
oooo =ty —t00000000¢000000000(M)¢t 00 4,+A0000
OO0 A0000 A/2000000000000000 7,27, 00000000000
ooogd mO00O00on

ubbooboobggbooboobboboobboboboobuoobooboo
gboboobobooobobobooboboooboboboobobooboboobo
gooooooooooooon

gboogboobooobobootoboobobooooboobooobooboon 44—t 000
oboooooooooooooooog

hi=tip1—t; (i=1,2,3,...) (25)
gogogd (D 4(a)DD)DDDDDDDDDDD Fuler OOOOOOOOOOOOOOOO
Tiv1 = T + hif (24, t;) (26)

goboooboooobooooooobooobooooobooom booboboboOoboboo
goobooooobooooboobdonD mobbobooboooobobooooboo
hOO0oOooobboooboooooobomooooooobboobboooboobooooDo
gbooobooon

gboooooobogobobooboboboobobobOob eb0DbObOO0ODOOLOODO
Oo0ooOOo0o0bOOoO00boOo0OobOo0o00DboDEer0DOO00DOODOOOOOOO
O00ob0obb0bouobUbb0eb0bb00ODU0ODOLDODUODODUOLDUOOEWer OO
00000 OKR?) 0000000000 A00000000D0D0000000O00OOO0
0000000000000000 oY) 0 A 000000000000000000
ooobooobobo AhO0D0000000DO

0000000000000000 A2000000000000000000000
ooobooobooobo coooo

Tit1 = T + hif(xi, ti) + Ch? (27)

O0o00o00o000o0o0oo0oD AODOOOD ;00 2(t;+h)0000000O0O0OO
oo0 z;,, 00000
T = v + hf(2i,ti) (28)

goooobon =, 000000000
xi+1—xf+1:Ch2 (29)
dddododooooooodo 2000000000000 ooooOooOooOouogd
DDDDDDDDDDDDDDDDDDDDDDDDDDx;.kj_l/?:cﬁ_lDDDD
T = it S f@it), @i = w e + S f@e i+ h/2) (30)
goodooo 1oooooon C(h/2)2DD|:||:|DD 2000000000000

Tiy1 — it = 20(h/2)* = Ch?/2 (31)



ggboobobooobooobooooboooboooboboobobooboboboobon
000000000000 (0 4b)00)00000ODOOOOOOO

T — 27ty = Ch?/2 (32)
00000000000000000 CO

2(ef, — i)

C= 2

(33)
oooono
0000000 h00000000 pyOOOOoOooooooo Ch?DDDDDDDD
oon
2($f+1_33ﬁl)
2
gogogogono (DDDD)D ceJO000O0OOCOOODOOOOO

Ch? = h? (34)

h2

‘2(55;+1 - xfil) e (35)

h2

ggogg
eh?

hi < (| 55—
R

(36)

gbooobobooboobbooboobbooboobboobooboobooooboon
ooboooooooboooooooboobooobooobo0 rhOOO 10000

ooooooo ;00000000000 ke OO0 he—y/200000

x;ﬁrl =x; + hi_lf(a:i, ti) (37)
hi—1

— (@2 ti + hie1/2) (38)

Ty = T+ ZTf(wi,tz‘), Tit1 = Tiprja T 5

gbooobboobooboobo

€
h; = ﬁh.*l (39)
oV 2l el

Tiv1 = x; + hif(xi, ), tiy1 =t +h; (40)

gbobooobobooboobooboboooboboobobooobooboboboboooobo
gobooboobooboobooooboobooooboooboobooobooooboob
gboboooboboooboboooboboooobobooboboboooboboooo
O0b0ob0obbo0boUoUboUdEderb000gooboboooboobobbobobo
00000000 @ooo0o0000oU00D0ooooOoODOO0OoDOoDOoDOoOUObOOooDO
Oooooon)

ugbbogboobbooboobboooboab

dx(t)
dt

O EBEuer 000000000 DOOOOODOOOODOOOODO 50000t=0000
OooooooO0OooooOoOoOobooOooDoO eOOoODODt=00O0OD0O 200
gobobooooboboooobobbobotrbooboobo t,zOO0O00O0DOD
O000000000000000 (41) 0000000000000 OOOUOobDoOoO
O200000000000000000Ewler000 tO0Db00Oo0obb0oobOooboOoD
gooooooOoooooooobobo0oooOoo0 +ooboo0obO0 AbOODOODOO
gbogooboobooobooboooboooo

ooog

= (1+ ez, z(0) =1 (41)




25

Euler o xxx"x‘
adaptive method  ~ £
20 I andlytic solution g( ]
15 ¢
x
10 |
5 .xv@x@
aw‘;xﬁ"e
(o3
ot ‘ : ‘
0 0.5 1 15 2

05 Euler 0000000000000000 (41)0 Euler 000 A=0.1000000
00000 e=00100000000000000000000 «(t)=(1+t+¢)2/40
00O



